
 

Lecture 14 Stimulatedemission and amplification
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At thermal equilibrium the average populations of
level 2 and I are constant with time
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To satisfy we must have
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induced transition rate due to the presence of a
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Solution of O is
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At thermal equilibrium 䇗 e背 N_N

Density of absorbedpower homework2problem
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gaincoefficientof an active median with Lorentzian
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Complex refractive index of the laser medium
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Complex wave vector of propagation in laser medium
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Problem to study

Q howdoeSN.si orgain change when there is

ele tomagneticfield

A Solve the rate equations for level2and I in steadystate
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where N Nz are population densities m of level 2and 1
R 只 are pumping rate cris
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where Is v is called saturation intensity
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